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SECTIONA
Answer ALL questions. Write your answers in the spaces provided.

Some questions must be answered with a cross in a box X. If you change your mind about an
answer, put a line through the box $< and then mark your new answer with a cross [X.

Daily routine

1 Read how each of these students goes to school.

AT e Jab 3 ot Loltiie e ag il awjie ) el aJs
)9\.’:: C)\JW\ (\;—9;\ ) .45')\.:,%/3 5.,\.:.&3.5\ L;M).u Lgsl Mi“ g;"i & L;’T L;:..L;-;Li el

1% Jiad

Lol ckad Jab b tedezanfy astyed ortys TS, aujaddl g condl | g

dey ol ) 56l .ngly (siead LA ¢ ppds 0 LB (zg.d\jewot}iﬁ ple

What is each person saying? Enter either Walid, Sawsan, Wasfi or Amer. You can use
each name more than once.

Example: ... . o walks to his school.

(@) o likes to walk to school in the spring.
(D) o has to leave home early.
(€)oo cycles to school all year round.

(o ) I 's school is a long way from home.
(€) goes back home alone.

(F) e walks with his father in the morning.

(Total for Question 1= 6 marks)
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School friendships
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2 Read about two friends below.
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Complete the gap in each sentence using a word or phrase from the box below. There
are more words than gaps.
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phone father well years

email happy months mother
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conversation better ill sad

Example: Zaher contacted his friend Ahmed by ... K2 T

(@) Zaher spoke to Ahmed’s ...
(1)

(b) The first time Zaher called, Ahmedwas ...
(1)

(c) Ahmed’s healthisgetting ...
(1)

(d) Zaherbecame ... after the phone call.
(1)

(e) Ahmed and Zaher have been friendsfor ...
(1)

(Total for Question 2 = 5 marks)
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The Arab Games

3 (a) Read the following report on the Arab Games.
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Answer the following questions in English. You do not need to write in full sentences.

(i) Inwhich country were the first games held?

(i) How many countries took part in the first games?

(i

i) How often did the games take place in later years?
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(b) The text continues:
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) What happened to the number of countries participating in the games?

(

i) Which other games did the Arab athletes take part in?

L

(Total for Question 3 = 5 marks)
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A Happy Day

4 Read the extract below about Tawfig's walk one day.

o u.mbd‘ @LEJ$ L}J ..;M.w:’; Lf‘)” 2\3J.€— S-X.g\.’ ‘:,.f :’;\,’.5 cyjj\ r\.ﬂ BalS C\Mo L}J EL2x "o:"a\
5oy Osalis 0s YoVl 13 oy ooy 6,08 aetly L Jjlad) Bgb e o) sledl (35l
@L:LJ‘ o Z}Jl :}.)aj V.@J'S\.xf.u

) i S el Y Tuog a3 Sty (8L Talay Uantd Jpaadl 0 S35
@Jj\ J:a-é 9‘}‘& L;% J.«:'I«-«:ag, C};-“j ‘L;s};_ :fg JU\ o}a-j u‘l" J.é.k':' el eosls”

Joter el el 508 Al ) s yselally ciflally 2E3¥ Sles ohasl Lilgly s
Dgredly Qs axiss ST Iy dave W) sl )

Put a cross X in the correct box.

Example: It was ...

evening.

spring.

night-time.

(N O ™
O Nn|lw >

summer.

(i) Tawfigwas ...

joyful.

watching TV.

sad.

0o|o|o|o
O N = >

on the phone.

(i) Tawfiglivedina ...

A farm house.

B hotel.

C flat.

I 0 O O I O

D youth hostel.

J
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noisy and happy.
listening quietly.

shouting and angry

sad and unhappy

meet a friend.
go to work.

do the shopping.

go for a walk.

feeding their young.
flying around the trees.

fighting each other.

standing still, feeding.

(Total for Question 4 = 5 marks)
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Arabic Language Competition

5 Read the text below about a poetry competition.

A sV anla bl 2l g ol a5 M b dras” dns, caled
O e "l sl gf 0" sbaddl) LI Gas 50 O1AL) fr Jubl s s
I O Lo Jiasy . S Ol b BLall e "2 sl coslary il BLST e JaY)

Obs el e g oiddl sly"

B ol ) aadl) aaLA) 2asy LSl el e aen il ) A8l o Cuds
Adises Flex 095U Glisly

demgl) smg (Oled ale o "M " LIl et Bl o OF Akl dimd ojlesly
Aol Slorlam) o ) e 8Lad)

literature - <3Y1*

Answer the following questions in English. You do not need to write in full sentences.

(@) What did the competition organisers announce?

(Total for Question 5 =3 marks)
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6 Read the extract from a story about a man and his walking stick.
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Answer the following questions in English. You do not need to write in full sentences.
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(@) Which member of his family did the man feel the stick was like?

(1)
(b) Mention one particular situation in the man’s life where the stick was present.
(1)
(c) What was the stick made of?
(1)
(d) What did the man imagine his stick might do?
3§uﬁ% (1)
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(Total for Question 6 = 4 marks)
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10 Translate this passage into English.
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